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Lb'; NOI PAU

Théng bdo déng ad: tir ndm 1971 dén ném , 1975 bao gom
két qud quan sdt cia cdc 'trgm dia chdn Phi Lién, Sapa, Bdc
Giang, Hoa Binh, Tuyén Quang thujc -Vién Khoa hoc Viét Nam
chi yéu @bi voi cde mm ‘dgng ddt & khodng cdch : xa .vd
trung binh.

Trong' qud trink phin tich 8 liéu c«ic thong 0 dﬁng dae
(toa &3 chdn tim, thiri diém %3y, ra djng ddt, 3 sdu chén titu,
" maguitut v.v...) da dirgc tham khdo tis thong bdo ding dat so b§
. cia Vién Han 1dm Khoa hoc. Lién 6, thong bdo djng ddt cia
Vién Han ldm Khoa hoc Trung Quéc va thing bdo djng dét
clia nhiéu nwdc khde. '

Viéc xde dinh cdc pha song dwgc dwa vio bing, vin tdc

truyén song cia H. Jcﬁ're_ys vi K.E. Bullen (1958), ngodi g’
maguitut ¢on duwge xdc d;nh tir cong thisé :

‘ M=log"'1': “+alog A (km)+b

doi vmsongmgft, hq!sonvabphulhupc v&om&yv&n@n
34t ciia timg tram Thdi gian ding trong thong bdo la thri
gian quéc & (GMT).



* FOREWORD

The present bulletin consists of all seismological date from 1971
to 1975 recorded at the seismological stations Phi lizn (PL), Sapa
(SP), Bic giang (BG), Hda Bink (HB) and Tuyén Quang ( TQ).

These Yesults were analysed and written. out at the Geophy=

sical Laboratory (National-centre for Scientific researches of the
S. R. Vietnam).

In the bulletin there are mainly earthquakes with epfcentre
a grest and middle distances. We used the parameters of earth-
guckes (geographical, coordinates. occuring time of AeAa'rthq:mkles,
Fome depth, magnitude,...) in the monzhly preliminary bulletins of
smfuguskes of the USSR academy of Sciences {Moscow), the yearly

Sndliesins of earthauakes of the chinese academy of Sciences (Pekin)

sad the seismological bulletins of the other contries. The determination
of phases of waves was based on the hodograph of H. Jeffreys
and K. E. Bulles (1958). Besides the magnitudes of earthquakes
were calculated following the formula

M=10g +llogA(lmv+b

: of surface waves. The coefficients a and b wére determinéd by the
seismographs and th- other conditions of the stations. The time uud
in this bullelm was the Universal Time (GMT)

v TRf CUA CAC TRAM BJA CHAN

Coordinates of the Seismological Stations®

(TQ)

Tram vi asé Kinh ad - pé cao Nén da
phd Lih 20" 48 21,7y | 106" 37'44,4"E 90om | guic zit
., (PL) ~ :
Sapa '22°20'09,7N | 103°49 51,8% 1570m | cat K&t
(sP) i ' - '
pic. giang | 20817 38,8'K | 106" 13442,9"E 15m | Ct K€t
(BG) Ty
Hoa Binh 20" 49’ 33,3'N | 105 21 06,9"N 3om | cat k&t
(HB) PR
Tuyén Quang | 21°49' 42, 0™ | 105 1230,0°E 35m

; Quic Zit




\\ 1971 \\




Thong béo dong ddt nim 1971 gdm két qui quan skt clia che tram

Earthquake Observations at the Stations :

Phéi Lifn.(PL)

Sapa (SP)
Béc Giang (BG)

Céc hing s6 co bin ciia miy &ja chin

Constants of Seismographs
? Thanh | T8 Tl 2 =

Tram . May ghi phén | (sec) (secy| P | g 0 Vv vn‘x ;
phd Li&n | SD - 57 NS 6,7 |0,5L|0,5 4,0 |0,02] 2.200 2.2164

o 6,7 |0,51{0,5 [4,0. 3.082 ~ 3.105

z | 6,7 |o,51]0,5 3,3 [0,25| 1.334 1.369

Sapa su -5 | N |1,2|0,28 0.645’1,5 0,4 |15,681 15,681

EW 1,2 |0,28|0,84501,5 |0,4 16.871 16.871

z 1,2 |0,28l0,645 1,5(0,4 |18.307 18.879

8ic Giang| charin | NS 1,06|0,32(0,625 1,640,24|25.342 28,234

' ew | 1,06[0,32|06281,68 |0,24{29.924 | 33.327

z 1,06 |0,32[0,6251 ,68 |0,24|26.555 29.585
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Thong béo d9ng &t nim 1973 ghm kit qui quan skt cla cbo trgm 2
Earthquake Observations at the Stations :

Phi Lifn (PL)
Bic Giag (BG)
. Hda Binh (HB)

Céc hiing o8 co bin ciia miy 8ja chéiin.

Constants of Seismographs
ki [thanh |Ts | Tg . =
Tram | ndy . |phén | (s) | (s) | D5 | D9 (1] V VMax
pht |sp- |[ns | 6,7|0,51| 0,5 | 4,0 |0,02 2.328 oraa6
1idn | 57 , v |
‘ ew |6,7 |0,50| 0,5 | 4,0 0,005 2.364 2.372
z |e,7 |o,51|0,5 |33 |0,25 1.471 1.4€8
Bic- |cha- |ns  |1,06|0,32|0,60] 1,80f0.25 | 22.833 25.368
Giang | rin } . :
" lew |1,06]0,32]|0,60|1,65/0,24 | 26.592 28.959
z |1,06]0,32]|0,60|1,72]0,24 | 23.396 25,712
Hda- |Cha- | Ns |0,70 0,32 0,5 | 1,5 |0,05 7.957 9.542
Binh |, rin : ' : , ,
W |0,70}0,32|0;5 | @5 {0,05 8.565. 10.271
z lo,70|0,32]| 0.5 |25 [0,05 | 7.945 9.528
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